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Section A

Section Id : 736593290

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 90

Enable Mark as Answered Mark for Review and Clear Yes

Response :

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 736593378

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 73659326010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When a student asks irrelevant question, then what will you do 7

W FE faerell AU 0§ 98T 8, af oA #E BT ¢

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Make fun of her/him
IHET FATE I2ET

1.

Make him realise about her/his mistake

IHET AT F ATTE HOEA

2



Avoid her/him
I9DI ATREAT A

Encourage her/him

JHBT Ut itjﬁ r:f_,i\i

Question Number : 2 Question Id : 73659326011 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

At primary level the medium of instruction should be in mother tongue because :

P11 e 2B e L P 2 o e W i = 211 T

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

[t will develop feeling of patriotrism.
ZHH 391 U9 # WA [GEEd B B

1

It will help children to understand curriculum.
, TE IR F GAaE] qHE A g El 2

It will help in developing mother tongue.
. ZHH AT % o § qera e o

It helps in teaching process.

A 7% S1e191 Ui § Heg wear 2

Question Number : 3 Question Id : 73659326012 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



When the number of students are very high in the class, then the biggest
disadvantage will be :
oid FEl | BE F1 §@N 9gd AF o, af §ad 991 8 Bl § P
Options :
The teacher do not remember the name of students.

1.

The matter written on blackboard is not visible to all students.

) % SIS T fofEr | S A S T8 &

Teacher is unable to check the home assignment of students.
s w [EE BET & e FE WA TE

Teacher is unable to pay attention to all students.
4 FAE BE T AR N T <

Question Number : 4 Question Id : 73659326013 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What will you do to motivate students in school ?
[Ed § BET B ANURT $H & g A = a7
Options :

Develop competitive spirit in students

| B # S e e

Give examples of famous people
5 % A TR A FEE &

Give rewards to students

3 w BE & WIS 3

Give a lecture on importance of motivation
4w OUOM % HET W MO



Question Number : 5 Question Id : 73659326014 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If a student misbehaves with you without any reason; you will :
A FIE BE FAPRY ATE d1Y geAder &, a1 AT :

Options :
Punish her/him immediately

Complain to Headmaster
TEMTENT | [STEd 6

2. %

Call her/his guardian
TS AMNIEE FI G

3. %

Try to know why he/she has done this
4 o ST B BT BT B S8 uE A= i

Question Number : 6 Question Id : 73659326015 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Teacher asks question in class to :

[STeF el H ST I8 B

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :
Maintain discipline
ASTES I @ & o

Improve teaching
ST I~ $ & fefd




Keep students busy

Encourage students to express and interact

, TR AT SAeAt R @ eIl AiHied N F

Question Number : 7 Question Id : 73659326016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

As a teacher, to develop self confidence among shy students, you will :

HEEl [ § awiasad GeEd #3979 A 0F s $ w0 H
Options :

Give them opportunity to speak on the topic which the} know and others not
U§ fq9g T B Fed & HGET T @l d A 8, wiidd gaY A6l S

1. ¢

Force them to speak
) % EECANCICE NG D Huld ! ]

Scold them if they are not able to speak

[gnore them

\ v T S A

Question Number : 8 Question Id : 73659326017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For development of creative thinking teacher’s should :
BRI H goHlcad fowi & fabi &g (98 @i =ied i -
Options :




Create flexible environment in class
T T AT S NIIRAE]

1

Control the students

Give them lecture on traditions

3w O O 9T e

Direct them on each step
4« T O W T

Question Number : 9 Question Id : 73659326018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Group activities in class, help in improving :
F1 # §e I 970 T A AeS Hl ©

Options :
Competition

® 3L

1.

Hostility

o x G

Cooperation

3. el

Friendship
, w T

Question Number : 10 Question Id : 73659326019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

Which of the following should be avoided for expected improvement in anti
social behaviour of a student ?

UF el & AGHEIE Faer # ulad g9 @ b ol R 9 o T@ A
aney ?
Options :

To analyze the problem of student
| o (A T e A s F

Send her/him to counsellor

- IHHI TASEET & 99 Tl

Tell other students not to interact with her/him
IEY fqEniEEl # SHE Al #1607 S

Inform guardian about him

ANEE H 3qE 9% § Giad B

4. %

Question Number : 11 Question Id : 73659326020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Five boys took part in a race, Raj finished before Mohit but behind Gaurav,
Ashish finished before Sanchit but behind Mohit. Who won the race ?

IE @H 7 UF <2 A AF fom, U9 Alled | TS0 add dd 3 9% §Ard 8l
@ AT ST § B dfed Aisd F % @0 3 e S ?
Options :

Raj

Mohit
3. % Ties



Ashish
4 % e

Question Number : 12 Question Id : 73659326021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Rohan walks a distance of 3 km towards North, then turns to his left and walks
for 2 km. He again turns left and walks for 3 km. At this point he turns to his left
and walks for 3 km. How many kilometers is he from the starting point 7
fFHl % =l &1 g8 5 § o g3a1 2 A 3 [ 0@ @@ 21 29 fog W a8
AW TR AR g3 & AN 3 Al T T 21 g8 JeAn 93 8 o e

g7

9fj;|
el

Options :

Question Number : 13 Question Id : 73659326022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Find out which of the letter—series follows the given rule : number of letters
skipped in between adjacent letters in the series is two :

Tl Y i B AG-HE QU A F AT A B e § A




Options :
L MPSVYBE

5 % QSVYZCF

SVZCGIN

3. %

. ZCGKMPR
4, %

Question Number : 14 Question Id : 73659326023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the English alphabets are written in the reverse order, what will be the fourth
letter to the right of the thirteenth letter from the left ?

qf¢ IS AHT Iee HA A @ W E, df 90§ qied FET & IR A A A
T BT 7

Options :

1.~'/J

Question Number : 15 Question Id : 73659326024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the number — letter group which is different from other three :
HEAT — AE qYE o o 9= 9 AT ©
Options :



18R

4. ¢

Question Number : 16 Question Id : 73659326025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If in a certain language, POPULAR is coded as QPQVMBS, which word would
be coded as GBNPVT ?
ai¢ fFEl Misaa o 4, POPULAR &1 QPQVMBS % &1 H #lid 41 A1l 3,
dl #F-91 /= GBNPVT & &9 # Fif3q & s ?
Options :

FARMER

1. %

, » FAMOUS

. FRAMES
3. %

, » FARMES

Question Number : 17 Question Id : 73659326026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a certain language, REMOTE is coded as ROTEME, which word would be
coded as PNIICC ?

o fsag amr §, REMOTE & ROTEME # &7 & #ii2d a1 & 2, #H-41
e PNIICC & =9 ® Fif2q fFar sy ?




Options :

s NPIICC

, % PICCIN

PINCIC

3. %

4 PICNIC

Question Number : 18 Question Id : 73659326027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In a certain code, FIRE is written as QHOE and MOVE as ZMWE. Following
the same rule of coding, what should be the code for the word OVER 7

u% His=d 12 § FIRE # QHOE @A MOVE &1 ZMWE & &7 & @l & &l
FIET & §9F 799 % &6, OVER §1& % WU I 41 81 =A1iey 7

Options :

| % MWED

5 MWEO

- MWOE
3. %

MWZO

Question Number : 19 Question Id : 73659326028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



If SCOTLAND is written as 12345678, LOAN is written as 1435, LOTS is
written as 8124, DAN is written as 537 and SON is written as 458, then what
will be the code for'C' ?

7fE SCOTLAND & 12345678, LOAN 1 1435, LOTS #I 8124 fef@l & 2,
DAN &I 537 AR SON &l 458 fe@l @l 2, df 'C' % [o/d &3 #1 &R 7

Options :

1.330

Question Number : 20 Question Id : 73659326029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Pointing to Ketan, Namrata said, "He is the son of my father's only son." How is
Ketan's mother related to Namrata ?

Fo F AN I Fd ZC THA 7 FE, “GE A UA & IHald 9 F el B
Fdd @ A} T8 § a9 "gad © ¢

Options :

Sister-in-law
| o T

Daughter

A

2.WEET

Aunt

[

3. % A4

Sister
4, % B



Question Number : 21 Question Id : 73659326030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following statements are true about National Assessment and
Accreditation Council (NAAC) ?
U™ T3 A7 TaE TEe (NAAC) & IR # Feifiad § § #F-81 3
el ?
A. Its head-quarter is located in Bangalore
A HEITd S A T @
B. It has regional offices
C. It assesses and accredits higher education institutions in India
D. Itis an autonomous institution
E. It was established in 1990
TP SO 1990 7 T2 o1

Options :

| % A,B,C

A, C,D,
2.¢

A, CE
3. %

4 % A B,C,DE

Question Number : 22 Question Id : 73659326031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which institution topped the list of National Institutional Ranking Framework
(NIRF) 2019 ? :

™ §EIFE 87 BAa® (NIRF) 2019 # 68 #&I9 5 §fg ®=19 ore fwar 7
Options :



Indian Institute of Management Bangalore
| x TNGE TSI e SN

Indian Institute of Science, Bangalore
T faee §8IF, FER

2.¥

Indian Institute of Technology, Kharagpur

Banaras Hindu University, Varanasi

, x Y fEg favafaemE, awemE

Question Number : 23 Question Id : 73659326032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the new curricular structure recommended by New Education Policy,
2019 ?
T2 fsrn i, 2019 EF1 FSEd T8 TeHEH HEEA AL 7

Options :

L& 5+43+3+4

o % 9+2+2+412

Question Number : 24 Question Id : 73659326033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Establishment of Jawahar Navodaya Vidyalayas was the recommendation of :

FaAET Tded faamat # I e st o ¢



Options :
Secondary Educz_ltion Commission (1952-53)
| % AIEHE [STE AR (1952-53)

Kothari C_n::mmiss.icnn (1964)
) ® EF?IF.J ;:| :.'-W “964}

National Policy on Education (1968)
s w [STET OT AEE AT (1968)

National Policy on Education (1986)
4 o 1S T S T (1986)

Question Number : 25 Question Id : 73659326034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the title of the book written by Prime Minister Narendra Modi to
address the examination stress of students ?
Options :

Exam Warriors

| T GIERL]

Pariksha pe charcha
5 x TOE T T

Parikshaveer
3 5 "-I"':'Ifillr]r T

Rashtrashikshak

, s TTEITES

Question Number : 26 Question Id : 73659326035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

On the occasion of teachers day in 2017 which online portal was launched
providing national digital infrastructure for teachers ?

2017 # 9% fead & wady W efaiad § § $E-81 AR ded [$EE
Fafvrest gfeT 2q o9 fa T 7
Options :
Diksha
v S

Shiksha
- faTam

Gyan
B1§]

Shakti

Question Number : 27 Question Id : 73659326036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The project shiksha launched in 2003 by Microsoft in 12 states of India for
government school teachers aim to enhance :

WTEEWW?UO&WGT&W‘T‘W’ I REEIGRIRECE R R ET:
FIST 1 faE o =r 2
Options :
I. T. Skills
L@ ARo o IS

Entrepreneurship

. JFHAl FISE



Teaching learning material

- fSTefOT ATERTH HEAT

Leadership

Question Number : 28 Question Id : 73659326037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Courses in the area of special education are regulated and controlled by :
[isT 91| & &9 % AFREF FEEA MEaEd 4 § dE-0 961 31 FEET o
P 2id & 7
Options :
Rehabilitation Council of India
o [elEfEess FRefEE o e

Special Education Council of India

5 5 [ISTEE {87 9Eg

National Council for teacher Education

; . T (8T s aiiug

Medical Council of India

4 % HIZde FIeidd AT 2=

Question Number : 29 Question Id : 73659326038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Where is NIEPA Iocatedl? )
U0 #ARo 2o Ulo To @l #0d & ¢

Options :



New Delhi
) EERERS]

Chandigarh

4 % ASTTE

Question Number : 30 Question Id : 73659326039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who was the chairman of the committee for Draft National Education Policy in
India in the year 2019 ?
TG H g9 2019 § W0 TS {6 i &g Toq qEid oA B o ¢
Options :

K. Kasturirangan

| Fo TR

U. R. Rao
) % Jo o d

C.N.R. Rao

3$3HrToUF[o-3TIToTIﬂ

Prakash Javdekar

4w TS SEASHT

Section B



Section Id : 736593291
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 70
Number of Questions to be attempted : 70

Section Marks : 210
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 736593379
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 73659326040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The domain of the function f(x)= =

'|,.|'I X+ | X |
1
:

Gxt+| x|

T f(x)= F U S

Options :

4. % [0, =)

Question Number : 32 Question Id : 73659326041 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



The differential equation of the family of all circles with centre at origin is :
qel o, @7 dnl 99&7 GR@EE gdi 51 dade FHIE §

Options :

i
x— u.i: 0
_ " odx
|':|"E
X+ If.—'f= 0
) \j? ’ |':|".T
i
X i:[]
3 ® dx
ay = X
4, # - |

Question Number : 33 Question Id : 73659326042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The slope of the tangent at (x, y) to a curve passing through the point (2, 1) is

1'1 1 IJ"2
————, then the equation of curve is :

2xy
) - ™ [ [ = i 2 =) .
TF 9% B AN 9 (v, y) T @ T s # ager % g T A 9%
xy

=
=

g (2, 1)F T E, °f 9% F FHE E
Options :

2(x? - y?)=3x
1.¢

J:[J:2 +.H2'J=2
2. %

2(x% +y%)=3

3. %



Question Number : 34 Question Id : 73659326043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
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Question Label : Multiple Choice Question

The particular solution of the differential equation log |ﬁ—-”|=3x+4_w, when
\ 1X
k=M, y=0,18;

= , | 'lil ) - i =
AaPe FHIE log 'tji =3x+4y, A x=0, y=0, & G BF & :
LX)

Options :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The angle 8 between the line r =a +Ab and the plane r.ii=4d is given by :
qiE [N r =a +Ab T §9GW r.ii=d ©, dl 99 o & HVT O FH FHE BAN
Options :

_1la i
B AT

L 1al |

co
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Question Label : Multiple Choice Question

. r— X If — 1 - T— T . .

The line 22 _ Y~ %1 _Z7"1 jg parallel to the plane Ax+By+Cz+D=0, if :
1t o C )
S X—X; Y-l z—z : :
T 1LY~ 27" Fo §Add Ax+By+Cz+D=0 §ANK &, 3% :
i L c

Options :

a. A+b.B+c.C=1
1. %

A B C
o ® .!?_31_1.

a. A+b B+c.C=0
3.¢

a b c .
—+—+—=1
4 % A B (C
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Question Label : Multiple Choice Question



If @ =i+4]+2k, b =3i—2j+7k, ¢ =2i—j+4k and ¢ .4 =15, then the value of
¢ , which is perpendicular to both 7 and b . is :

e 0 =i+4j+2k, b =31—-2j+7k, c =2i—j+4k T c.d =15 4 & a4, @l
a @I b 3 9T FEEd 8, B

Options :

321 — | — 14k

] ®
_— 321 + 7 +14k
5 s ot -
—(321 +7j +14k)
3.% 3
2 (321 — j — 14F)
4.9 3
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Question Label : Multiple Choice Question

o

The value of | -
El 1+¢”

dx 18 :

o

[ ! o w1 amd:

S 1+e?

Options :

L log 2
log2-1

. —log 2

—log2+1
, log2+



Question Number : 39 Question Id : 73659326048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

If tan 6 +secH=+/3, D<B<x, then 0 is equal to :
e tan O+ secB= [3, D<B<m, l:“ 8 =l HIH 3
Options :

n

3

= | =

[
Ll.'l|::-|

ha
S
= =
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Question Label : Multiple Choice Question

The maximum value of 7cosf+24sin6 15 :
7 cos @ + 24 sin O7h] dﬁw HH =4
Options :
24

25

31

30
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Question Label : Multiple Choice Question

In triangle ABC, sides of the triangle are a = 18 cm, b = 24 cm and ¢ = 30 cm.,
The radius of incircle of the triangle ABC is :

B ABC H, Bd &1 Y9I a= 18 Ho Hio, b= 24 Ho Hio T ¢ = 30 Ho Hio
gl AABC & &w0:gd &l BIo @ ¢

Options :

10 cm
| % 10¥o #Hlo

15 cm

5 % 15 Ho Hio

12 cm

, x 1280 o

6 cm

4 6 Ho Alo
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Question Label : Multiple Choice Question

3

The term, which is independent of 'x’ in the expansion of | x2 T , 18
1 .-II. J
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The raduis of the circle whose centre lies on the line v—4y=1 and passing
through the points (3, 7) and (5, 5), is:

UF g9 F = W@ x-4y=1 T g B @ fagdt (3, 7) AR (5, 5) § EE
ST 81 g9 B B B

Options :
8

1. %
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Question Label : Multiple Choice Question



The equation of the parabola with vertex at the origin, passing through the
point (3, —4) and symmetric about the y—axis, 15 :

T Tawd H AN fgHiey AR Iy (3,-4) § YA B oA AT B A

Options :
4
x? =—
1. % K
2 9
X" =—y
2. % :
4x? +9y =0
3.¢
'??_I,.‘E +4x=0
4, %
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Question Label : Multiple Choice Question

The eccentricity of the ellipse 4x? + % =100 is :
3T 412 +y2 =100 BT Iebddl (e) B -
Options :

7.

\."E

1

|2
o

t

| a2

3. %

4.9
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

(1+i 1-i)

\1—1 1414

The value of | i5 :

Options :

(1+i 1-i :
L Y #wm AE R
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Question Label : Multiple Choice Question

1+ . .
If a+ib= Ill—, then the value of 2% +52 is:
—1
1+ = :
DI |'I+.TI"—1I.I|—,E|T a2 +02 T AN B

Options :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Polar form of (—1-+/3 1) is ;

(~1-+/3i) @ T@Y FEaT 3
Options :

Question Number : 49 Question Id : 73659326058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

(i)° + ()% + (Y +()% +(1)° .

The value of — 1S :
1+1
N L S T, s
{” +|:.I') +{'I) +{.'IJ +'|-r.'r:| & 31 E‘ -

1+1i

Options :
1+1

v 2
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Question Label : Multiple Choice Question

For ve R, solutionof |x+1| =4, is:
e rxe Rl |x+1] =4, 3 © :
Options :

3 ® (3, )

(—oo, —B]W[3, ==
VA JU[3, <)
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Question Label : Multiple Choice Question
1 1 1
+ + + -
1x2 2x3 3x4 4x5

g:l'Ur[IJ+l+l+J+ _________ % 10 T¢f &1 I 3
1x2 2x3 3x4 4x5

The sum of the series 4o p to 10 terms 18

Options :



11

| % 10
10
, o U
11
3 % 12
12
, % 1

Question Number : 52 Question Id : 73659326061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

Find the number of ways in which 8 distinct toys can be distributed among 5
children ?
8 Tt W & fame 5 9= # foae 9 § faaia e o | © 7
Options :
40
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Question Label : Multiple Choice Question



How many four digit different numbers, greater than 5000 can be formed with
the digits 1, 2, 5, 9, 0 when repetition of digits not allowed ?
A et awil, 5000 § I31 M-l §@W #H@F 1, 2, 5, 9, 0 F TR FE 9% Al
Hadl &, SdiS A F1 GG T8 BFl ey ?
Options :

24

1. %

4#,48
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Question Label : Multiple Choice Question

-

2 3
If .&:{_ b 2} and _r'{x}zxz —4x+7, then value of f(A) is:

.

2 3 - 3
DIES Az{—l 2} @M f(x)=x2-ax+7, d@l f(A) & AF 2 :

Options :

1.4/0

I-J
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Question Label : Multiple Choice Question

The number of all possible matrices of order 3 x 3, with O or 1 elements is :

(3 x 3) #Ffe (ASY) a7 AHe I @@= 0 a1 | A99al g1 ge o, ol d1il §od
Options :

1. % oo

Question Number : 56 Question Id : 73659326065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Question Label : Multiple Choice Question

An unbiased coin is tossed until two consecutive heads are obtained or the total

number of tosses is 4. The number of outcomes in the sample space is :

S8 AT 31 Hidesl W (FH) # 9w 7 H€en © o
Options :

10

1. %

o
2.#1'

14

3. %

16
4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a city 60% are smokers. 50% of the smokers and 30% of non-smokers are
suffering from throat problem. If a randomly selected person is found suffering
from throat problem, the probability of its being non-smoker is :

FEl S8 H 60% TEUM FH dwl ol JEIF & aiel § 50% AT T8I A A
amt # 30% T # "AE | disd 2| 3 Aefmaa: 99 S T # 99 |
difsd 9T A E @ 2695 JEUE 7 FE A B B 9l §
Options :

Equal to 0.3
| % 037 IR

Less_ than 0.3
2. .v,-'? 0;3 -g- EEF[

Between 0.3 and 0.4

3 % 034X 0.4% A

Morie than 0.4
4 % 049 A
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Question Label : Multiple Choice Question
In a multiple choice test having 4 choices in each question, an examinee either
knows the answer with probability 0.8 or guesses with probability 0.2. The
probability of answering the question correctly is 1, if he knows the answer and
1/4, if he guesses. If an examinee answers a question correctly, the probability
that he really knew the answer is :
U U # 4 fomed @ an e 98 faged odeE §, U IOEel Iu A Al
WAFal 0.8 % | WAl & A1 0.2 WiEwdl & 89 AJAA &R0 21 9SS H Hel
I < A WIEAT 1, I a8 &l IO Al © AR 1/4, I 98 AN Al o
g1 7 FE T BE 9sT & §E IO Il 8, O 98 asgd: Su ol o &l
1 DET A
Options :

16/21
%




) % 417

- 16/17

L% 12/17
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Events A and B are such that P(A) = 1/4, P(BIA) = 1/2 and P(AIB) = 1/4. The
random variables X and Y are defined as :

X(w)y=1,if we A
= 0, otherwise
and
Y(w)=1,if weB
= (), otherwise
Which of the following is true 7

A @ B UH 9291 2 & P(A) = 1/4, P(BIA) = 1/2 T P(AIB) = 1/4 Tf&6% =X
X @AY

X(w)=1, T2 we A
= 0, A=
Y(w)=1, 3¢ weB

= 0, A==
$1 Aid gfemieg 21 iciad § § 29 89§ 7
Options :

| % P(X=0NnY=0)=1/8

, @ PE=0nY=1)=3/8



3 % PX=1nY=0)=3/8

4 % PE=10Y=1)=3/8
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Read the following statements carefully :

S - Poisson distribution is limiting case of Binomial distribution.

S, -@HEl de 3aue dod F HHid FEer 3

S, - Poisson distribution is limiting case of Negative Binomial distribution.
S, -AFEl ded FIMHS aUe ded #l HHid e B

53 : Geometric distribution is special case of Negative Binomial distribution.
S5 -TOI e AV dUe e # [G8Y Aqen B

Choose the correct answer from the following :

Options :

.

5; and S, are true but 353 is false.
% " =
5, @i s, |El & UG S, T ol

1. ®
S, and 55 are true but 5, is false.
. 52 AR 53 WA UG 5, T B
2. 3
5, and 5, are true but 3, is false.
, x5 T 5; WA B 0T s, T B
5, S, and 55 all are true.
510 52 AR 5, |0 HE 2
4. ¢
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

For a binomial distribution B(XI20, p)., the variance can exceed :
el 3faue ded B(XI20, p) # fu, oewer = & aferF & 79 @
Options :

1.«?’4

4 % 10
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Question Label : Multiple Choice Question

Increasing the frequencies in the tails of a distribution will :
el ded & I8l H Gl H GgH | ¢
Options :
reduce the standard deviation.
| x AT faEET T

not aftect the standard deviation.
5 % AN (o H Tidd Tl FEm

increase the standard deviation.
3 o TFF (GEET e

not affect the standard deviation as long as the increases are balanced on
each side of the mean.

4 % SYEAE
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Question Label : Multiple Choice Question

A percentile score of 40 of a student in a test of total marks of 300, indicates that
he :
300% FE A%t @ fFH wer § oF 8E % 40 Widsad Ureis i & i
Options :

has answered 40% of the questions correctly in the test.
| % OO THE # 40% S B HE S A B

knows 40% of the total topics covered in the test.
5 % a8 TUET & |iEierd B fawat B 40% T 2

has earned a score equal to or more than 120,
3 % 399 120 % IET AN G A qrdin AT A 2

has earned a score equal to or better than 40% of the students who appeared
in the test.

3G 40% BE, S TET § §iFEad g0, & IUEy A1 G99l OTdih @A
4.0 8
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Under usual notations, for the given ultimate class frequencies (AB) = 250,
(AP)=120, (oB) =200 and (p) = 70, (o) and (P) are respectively :
TEfed ®@edl # Sidid, 90 U SR @ IRraE (AB) = 250, (AP)
(oB) = 200 &7 (af) = 70 F &, (0r) A (B) FAST
Options :

450 and 370

450 AR 370 F

I

-
[
=

1. ®



370 and 450
5 % 370 AT450 F

270 and 190
; o 270 AR 1908

190 and 270
4 % 1903€270%
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Question Label : Multiple Choice Question

In a frequency table, the upper boundary of each class is k times of the lower
boundary. X;and f; are the midpoint and corresponding frequency of the ith
(i=1,2, ...., m)class. N is the sum of all the frequencies. Then which of the
following statements is/are true ?

Statement S : X, =X;k%, i=2,3, ., m

| I S
Statement P : Geometric mean of the data is exp | lug X+ Df H ")_'"___1 f if; |

TRl SNl JROT H, U a1 & S TREE FE aiEm #4 k il 2l X, AR
A = 1,2, ..., m) T F R g Y ET SORRG 31N @ et
ﬂﬁm?‘sl dl Feicigd FeE § 8§ B9 Hqe 2 7

FUT S X;=Xk', i=23,..,m

F9 P : Al H“I"WHTPJ exp | lng‘t]+

IDE K Tm

Choose your answer from the following codes :
frtefad %21 A § oIt 9t e -
Options :
Both S and P are true.
| SHAR PIA I &

Sis true but P is false.
, » SHAE T P AFA ©




S 1s false but P is true.
3 % S AEI E T PHA B

BEIIJ’I S and_P are false.
4, v SN P IM FEA Bl
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
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Question Label : Multiple Choice Question
Consider the equations of lines 3X+4Y =45 and 3X+Y=27 Choose your
comment from the following codes in context of these lines representing the pair
of regression lines :
WAl & FHE 3K + 4y =45 AN 3X +Y =27 B AU A @A B FAEAT
e % g g & aw |, ol el Freed et & | g
Options :

The regression coefficient of ¥ on X 1s —3/4 .

| o Y X T A IO -3/4 B

The regression coefficient of ¥ on X 1s —3.

o x Y X T EAET oTiE -3 B

Thq con'e_lation coefticient I::-etwergn Xand Yis 1/2.
, % XHR Y3 799 Hedeg IiF 1/2 7

These can never represent a pair of regression lines.
4w 3 TAEEE Y@t B W H1 B T RiEid B @l S
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Under usual notations, it is given that r5 =13 =r3=p, then:

yEfed dFdl # A, T8 G TR B ry —rs—ra—p, @



Options :
Ryos=p and rp3=p

Ryp3 =p AN rp3=p

1. ®
Ri23 =p~2/4f(1+p) and 153 =p2/./(1+p)
, x = pN2/\T+p) HIT a3 =pV2/4T4p)
Rip3 =py2/4[(1+p) and rp3 =p/(1+p)
Ry3 =pv2/J1+p) AN 13 =p/(1+p)
3. ¢
Rys =p/(1+p) and rjp3 =pv2/4/(1+p)
L u Tz =P/A+P) AN rpp3=p42/41+p)

Question Number : 68 Question Id : 73659326077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



A discrete random variable X has probability mass function f(x|6). On the basis
of a single observation, we wish to develop a test of size 0.05 for testing the
hypothesis Hy-6=6; against H,-6=6, The value of the probability mass
function f(x|6) under 8 =65 and 6=6, are given below :

B AFAd AGMEH X X WGl 861 e f(xv|e) @Al 8l REl Th JEv b
AMR T, BF 0.05 AN &1 U TWEl, Hy:0=0, &l H,:0=6,% [d6a TU4Y &
fou famfea 0 =9'd 21 e=6, AX 6=6,% AT TEHA AR BT f(x|0) F

Value of the variable X = x

g7 X=x 9 A1

1 2 3 4
f(x]0p) .01 .04 05 .90
f(x16y) 80 10 05 05

Consider the tests T; which rejects Hy if ¥x=3 and T, which rejects Hyif x=1
or 2.

et T, T Hy® AEE Bl © AG x=3 AN T, A Hy B AT B
A x=1 a1 2 F CHE I

Options :

T; and T, both are having equal size but ditferent from 0.05.

T, @R T3 A T 0.05 § i AR w@d

T, and T, both are having equal power.

T, A T, SMI §AM 9 T@d ol

T; is more powerful than T,.
T,.T, § A% sismE 2

T, is more powerful than T3.

Lo o0 H AT SIS 2

Question Number : 69 Question Id : 73659326078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

Which of the following tests should be used for deciding whether or not two
samples come from same skewed population ?

31 ufoest oF @ fawn 99 § o £ 41 7 % Mo % R efaiag sEer 8
& Br-E ThE TR A S e ?
Options :
paired t-test
| » TH LT

Independent t-test

WA t-TEET
2. %

Run-test
s x O3 T

Sign test

4.&?&1#51:@%

Question Number : 70 Question Id : 73659326079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

To examine whether two different skin creams A and B have different effects on
the human body, n randomly chosen persons were enrolled in a clinical trial.
Cream A was applied to randomly chosen one of the arms of each person, cream
B to the other. What kind of design is this ?

THeT @ & g @ # 3 B @a 3 A AR B AFa ST W [T 99 @
&, UF el TIEv § n AgrEHa: 9 Sl H Amiced A A Bl 9w
A & YA A § AgREEa: FhiNd UF U SM A T T AR gE W SE
Bl 78 8 U $1 ARG © 7

Options :

Completely Randomized Design
- qUic: AEBHd ATl



Balanced incomplete block design

., HOd AV G2F AN

Randomized block design

TR €@3F i

Latin square design

Question Number : 71 Question Id : 73659326080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A random sample of size n is drawn from a population of size N, having mean p

and standard deviation o, using simple random sampling without replacement.
The convariance between any two sample observations will be :

AT AN A9F =¥ ¢ T@H a N AN & el J9ie 9 391 ofdems §10

=)

TgfB® Widadd & TN F7d 80 n AHR F 0F Fidest FHa o 21 w2 @
Ofdest eV & 757 He9Ei9 BT

Options :

1. % -c"/N
2.% -’ /(N=1)
3 % —ﬁzfn
L% —Glf{u—'l)

Question Number : 72 Question Id : 73659326081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



If the random wvariables X and Y are such that Y =X2, then the Pearson's
correlation coefficient between X and Y :

A TRFBF WX AL Y U & 7 y=x2, @ X @R Y & 7= =6 7 godad
T
Options :
Will be always zero.
| x T S B
Will be always positive and greater than zero.

, w Ted TIE AT g 8 At am

May be negative, if equally spaced non-negative values of X and
corresponding values of Y are taken as data.
3 x 9l FOED B Fhell 2

May be positive, negative or zero depending on the choice of X and
corresponding values of Y.
I @ #

Question Number : 73 Question Id : 73659326082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

An urn contains 'a’ white and 'b' black balls. A ball is drawn at random and kept
aside without noticing its colour. Then a ball is drawn at random from the
remaining balls. The probability of this ball being white is :

UF ¥ 'a’ ®Hhe A% b PR T e B B LG A 4 =5 i S I R B
ARl # AR T 289 1 & 9 U uF @i @ 4 Anl Gl Wﬂwﬁwma
UF TT a9 B R A § I S 21 2| T @ dne 29 A1 Wi 2

Options :
(a—1)/(a+b)

) a/(n+b)



(n—1)/(a+b-1)

a/(a+b)

Question Number : 74 Question Id : 73659326083 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control

Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Each observation in a data is multiplied by a positive integer 'm' (>1) and then
'm’ is subtracted from each. If the original value of the coefficient of variation is
VO and the new value is VN, then :

el AiFs # U9 UE9 UF q9AE O 'm' (>1) | IO oS R R a9
U@® | 'm' Tedl Al 2l Al = i a1 §9 AW VO 8 @R 9 "9 VN
ar

Options :

L VO > VN

, » VO<VN

. » VO=VN

Nothing definite can be said unless the exact value of 'm' is known
4 % F90% 'm' F GEF AW 9@ | @ HiSET ® 9 75 Tl FR S G

Question Number : 75 Question Id : 73659326084 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control

Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Consider the following function :
FfdiEd Bed # 9F § @
F(x)=0. if x<0

=3¢c2, if 0<x<1

—4c-7¢2, if 1ex<2

=9c-7c2-1, if 2<x<3

=1, if 3 <ux,
For properly chosen value of '¢', it can be cumulative distribution function of a :
(a) Continuous random variable

Had AREE o
(b) Discrete random variable

AHAT ARRES =T
(c) Degenerate random variable
F1 H41 do e & Tl o
Select your answer from the following codes :
TR oY Fete & A & g
Options :

Only (a) and (b) are true

. A (a) AT (b) §A B

1.

C_)nly (b) and (c) are true
, o P (b) AN (c) & &

Only (a) and (c) are true

L % P90 () AT (o) § B

All are true

4%?‘1:[’[13?[%

Question Number : 76 Question Id : 73659326085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Consider following relations (with usual notations) where X ~ N{u, ¢2) :

Ffiad Jr (T SaarEd & &519), T8 X - N(u, 62), A

¥ e = _ o
(@) 3-SF5 (b) 1= M

o I

Which of the above is/are correct 7

SUAd § 3 dd &E 7
Options :
Only (a)

| % Tad (a)

Only (b)

- #as (b)

(a) and (b) b_Cﬂ_h
s % (@) @ (b) T

Neither (a) nor (b)
, o T (@ & (b)

Question Number : 77 Question Id : 73659326086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Consider the following pairs of equations :

(a) X+Y=2, 2X+3Y=4

(b) X-2Y=3, 2X-3Y =5

(c) X+2Y=5, 2X-3Y=3

Which of the above is/are valid pair of equations of regression lines 7
SUAT F FF GHITEAY AT & SHIEN F1 g a9 2 A D 7

Options :
Only (a)

| % Tad (a)



Only (b)

Zﬁﬁﬁﬁ{bj

Only (a) and (b)

Fae (a) AT (b)
3. ¢

(a), (b) and (c) all
(a), (b) AT (c) |
4, ®

Question Number : 78 Question Id : 73659326087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If 3y,%,,....,X, is a random sample from a normal population with mean p and
. l n n .
variance o> and T; =— S X; and T, =Y (X; - X)*,then Tyand T, are :
n g
|'=.J. |'=1
M X%,,%,, ., X, A9 1 AR T8 o2 a O g § 0F IRMSE Jided

AR =-YX, =Y x-%% @ RaAR 1 :
ni3 a

Options :

Unbiased

AN 2

1. ®

Dependent

) & A

Independent
s o TR

Biased
EEGR

4. %



Question Number : 79 Question Id : 73659326088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If X has a Bernoulli distribution with mean 0.4 and n is any natural number, then
variance of 2X" -5 is:

afie X AW 0.4 Al R Sl ded @l B AR n BE UEGE §en @, dl
2X" —5 7 GHI © :

Options :

|y 0.24

0.48

2. %

s x (048)

4 0.96

Question Number : 80 Question Id : 73659326089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It 3;,%,,. ., X, 1s a random sample from Bernoulli distribution with parameter

B, then sample mean E:i‘? X; i1s:
mni—

i=1

M Xy, Xy, .., X, TE0 0 arl Sl ded 8 2 J36% dided &, df Hiaesl At

X=13 x
n3
Options :

unbiased and consistent estimator of 6.

L 8 F FANHT AN 9 AFad 2



unbiased estimator but not consistent estimator of 6.
. O 7 AT ATheD & Tin] Hd A 6l ol

2

consistent estimator but not unbiased estimator of 6.
s x O 1 E AFTH & Tog A T B

neither consistent nor unbiased estimator of 6.
4 w O F T EM T A ST s

Question Number : 81 Question Id : 73659326090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The only language which the computer understands is ..............
UHAE 1T 5T FHFeT 93T 2

Options :
Assembly Language

- \ Je ™
bl " £ £

Binary Language

BASIC
S

C Language

o 8 FE

Question Number : 82 Question Id : 73659326091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



VDU standsfor .............. .
VDUH AT E ooeevrenn.

Options :

Virtual Display Unit

Visual Display Unit

Virtual Detection Unit
dgaAq f3emM e

3. %

Visual Detection Unit

L EEERNELEAR DI

Question Number : 83 Question Id : 73659326092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following are types of ROMs ?
Freieiliad & & %M ROM & W& & 7
Options :
L% SROM & DROM

PROM & EPROM
2.¥

Only one type there is no further classification

~ PROM & EROM
4. %

Question Number : 84 Question Id : 73659326093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What does BCD stand for 7

BCD &1 &% 771 2 ?

Options :

| = Bitwise coded decimal

) Binary coded decimal

3 % Binary converted decimal

4 % Bitwise converted decimal

Question Number : 85 Question Id : 73659326094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Fourbit 2's complement of 51is .............. .
5 F WIAEE 2's BRME & .o,

Options :

| v 1011

0101

2. %

1010

3. %

4 % 0011

Question Number : 86 Question Id : 73659326095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is notf a decimal number ?

HfmEd § & @i U 399% (Decimal) 9@ 78 & 7



Options :
114

1. %

L w 4347

L v 99.9A

. 10101

4, %

Question Number : 87 Question Id : 73659326096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the correct representation of a binary number 7
Fefaiad # 8§ 39 05 dRT40 96 #1 §8 diaHed © 7
Options :

s (129

, 5 1110
| x (11007

1000
v ( )2

Question Number : 88 Question Id : 73659326097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The maximum number of bits sufficient to represent an octal number in binary
number system is :

JET T A A UF dAlded @9 # didiFYd B W0 Ed f§ed #
AT HEm

Options :




Question Number : 89 Question Id : 73659326098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What does EBCDIC stand for ?
EBCDIC & & 71 2 ?
Options :
., Extended Binary Converted Decimal Intermediate Code

5 % Extended Binary Coded Decimal Intermediate Code

3 @ Extended Binary Coded Decimal Interchange Code

4 % Extended Binary Converted Decimal Interchange Code

Question Number : 90 Question Id : 73659326099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The expression of a two input NAND gateis ...............
31 279¢ NAND e &1 S0@f & ..o, |

Options :

 x A.B



A'B + AB'
 (A.B)

4 % (A +B)

Question Number : 91 Question Id : 73659326100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The unattended interactive information systems such as automatic teller machine
or ATM is called as :

| cal A9 A1 U 21 O ol SMeEs3 deifed gal TRl H Fal A 2

Options :
L Kiosks

Sioks

2. %

5 » Cianto

» Kiaks

Question Number : 92 Question Id : 73659326101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Interpreter is used as a translator for..
Wﬂ‘WWTWﬁWWWWEf
Options :
, Low level language

) High Level Language



, » COBOL

Question Number : 93 Question Id : 73659326102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A service that allows a user to log-in into another computer somewhere on the
Internet :

O {1 off el ST @ getie W A G F9eT # di-eT 1 @ erEn
EnIIEE

Options :

| Telnet

2. % FIP

3 % e-mail

UseNet

-

Question Number : 94 Question Id : 73659326103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
FTP stands for :
FTP & &% &7 & 7
Options :

File Text Protocol

| PR TR I

File Transfer Protocol

5 o PIE TIHGL e



Firm Transfer Protocol

3 % TH IR Oieidie

File Transplant Protocol

4 w PN iEwie I EI

Question Number : 95 Question Id : 73659326104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Wi-Fi stands for :

Wi-Fi 1 @18 791 § 7

Options :

L Wireless fidelity

Wireless Flexibility

2. %

3 % Wide Fidelity

4% WAN Flexibility

Question Number : 96 Question Id : 73659326105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Bluetooth is an example of :
&g [HEF UF B 2 7
Options :

personal area network

1. ¢



local area network
, x SFH & Head

virtual private network

aziaq?rr UEde Jead

3. %

wide area network

Question Number : 97 Question Id : 73659326106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a valid C variable name ?
Ffaiad # ® $9-91 U6 a9 C variable &1 9 7@ o ¢
Options :

int number;

1. #

float rate;

int variable_count;
. int $main;

Question Number : 98 Question Id : 73659326107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is nof an arithmetic operation ?
Ffoiad § § 29 06 dFnE ARse 786 7
Options :

% a* =10;



2. ®

| — .
3'\/21 10;
o a%=10

Question Number : 99 Question Id : 73659326108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What will be the output of the following C code ?
EieEd C $IE & AcYe 41 BRI 7

#include <stdio.h>

int main()

{

int y = 10000;
inty = 34;
printf("Hello World! %d\n", v);
return 0;
}
Options :

| & Compile time error

5 ® Hello World! 34

3 % Hello World! 1000

4% Hello World! followed by a junk value

Question Number : 100 Question Id : 73659326109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



What will be the output of the following C code ?
Fead C &1 &1 Areeye 41 B ?
#include <stdio.h>

void main()

{
inty=3;
intx=5%2%3/2;
printf("Value of x is %d", x);
}
Options :

| Value of xis 1
, % Value of xis 2

3 % Value of x is 3

4% Compile time error



